_TI:_@-Z,:f(x):Qx—{-l,g(x):—Sx-i-Qg’ = ROCR =

2331717

@)y =-6x-1 @ y=—6x ® y=—6x+1
@ y=-6x+3 ® y=-6x+5

(go f)(x) = g(f(x)) =g(2x+1) = -3(2x+1) +2 = —6x - 1
olct,




29

X2+ x—2 o WSk £(£(1)) + £(£(-2)) ©] &L

& f(x)

2.

@ 2 ® 4

® 0




3. T4 () = ar+ b g(x) =
451 19 BRFRZAL DA
@azlE—‘Eb:c @ a=1
@ b=c @ a=
® a=0

(feog)x) = f(g(x) = flax+c)

=alax+c)+b

=a’x+ac+b
oA 2 (go f)(x) = a’x +ab + ¢
sac+b=ab+c

=, (a-1)(b-¢)=0
La=1E=p=c¢




4. 5 FTFFEx+1) = v+ 28 AEG T, £(3) 9] FHS TFHhE?

® 1 @ 2 ® 3 @1 @)

f2x+1)=3x+2°A 2x+1=3°|E=&
x=1+< tiYstH
f@2-14+41)=f3)=3-1+2=5




TS fx) = B+ %+ x, g(x) = mx+n ol D (fog)(x) =
8x® — 8x? + dx—1 ol2t & o, m® + n® O] 2 AuA7E? (HF, m,n
&A%

(fog)(x) = f(gx) ¥= BT
AR Aole] elstel,
(feog)x) = fg(x)
= (mx +n)® + (mx+n)? +mx+n
3x3 + 3m2nx? + 3mn?x + n® + m2x?

+2mnx + n? +mx+n
= m3x3 + (3m?n + m?)x?
+(3mn? + 2mn + m)x +n® +n* +n
=8x3—8x? +4x—1
Fo17 412 x of tfat FE5Aolng
m3 =8, (m—-2)(m?>+2m+4) =0

m=2(-m<A5)
3m*n+m? = -8 ol m =25 HYstH
3-22.n+22=-8,12n+4=-

sn=-1

m=2n=-1< M,

x O A%t ASE AXstn
m=2,n=-1

mP et =234 (-1)3 =7
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gogog)(2)9 gk

@ 4 ® 8 ®)16 ® 32

D 2

FUFFe(V V)




= x+a gx)=x*-19 df, B A4 xof thstod
(fog)(x)=(go f)(x)7t AT A4 a2 = S

@o @-1 B®-2 @1 ® 4

gof=fogolA
(x+a)’-1=x2-1+a,

24+ 2ax4+a’-1=x*-1+a
Z2ax+a’-a=0

HE A xol s dEsted a=0




8.

B2 f(7Hf(2e-1) = x 2 LW, f(3) 9] e
@ 2 ® 3

Y

® 5




5 f(x) =3x-1, g(x) =4-3x o 5t ho f = g & T=Fot=

—

D hix) = %(x—i— 1) @ h(x) = 3x—1
® h(x)=x-3 @)h(x) =3 -x
® h(x)=x+3

(ho f)(x) =4 - 3x°l|A
fx)=t2FstHr=3x-1, 3x=1t+1
= 2(+1) & et
h(t):4—3><%(t+1)=3—t
soh(x)=3-x




10.

sok(x) =

—x+3 4, kog=nh

@k(x) = -x+3

kog=hOlBR (kog)of=hof
ko(gof)=hof
kol=ho f( - gof=1I I'=353)

sk=hof(-kol=I0k=k)
(hof)(x) = -x+3




@h(x) = %x—&-l @ h(x) = §x+%
® hx)=xty ® hx) = 1x+ 2
® h(x):§x+1

fx)=x+1,g(x)=3x-2%
(goh) (x) = f(x) & WSHsloF S22
(goh) (x) = g (h(x)) = 3h(x) -2
3h(x)—2=x+1,3h(x)=x+3

Sh(x) = %x—i—l




Fo17 a-FANA g(p) =,
s (fog)(p)=f(glp)




A f(x) = x=1o1 H5t] (fofo---of)(a) =1 & W=
a o 27 (&, BE 12 T2 o] A4+ 1070)
® -10 @ -5 ® 1 @ 5 G)11
f@) =x-1
(foNX)=ff(x)=fx-1)=(x-1)-1=x-2
(fofof)(X)=f(f(f(x) =f(x-2)=(x-2)-1=x-3
(fofo-of)(x)=x-10
U 78 FELS 107,

kA, a-10 =1 oA a = 11




14. HAF A = xjo<x<2} o st FFF: A - A E flx) =

1 O=x<l) o o aosio o 1 2 (1
{x_l o el s e g (5) + 2 (5) +

1\ 4 o
(1) A ges
(%’fg:fof? fS:fofof, )

@ 20 @25 ® 30 @ 35 ® 40

4 1
=15--+15-- =25
371003




15. y=f(x)9 27t 085 27 22 o, A (fo f)(x) =1
o] A= the Ao =2
yll
al - - - _
0 2 N7
@ 17 @)2 ® 374
@ 47N ® F435] g
fy=xx=2) o=@
flx)= {y:—x+4(x>2) ©

QA= (fo f)(x) = £(f(x)) = f(x) =x

Lx=1

O©NME (fo f)(x) = f(f(x) = f(=x+4)
=—x+4

Lx=3

Ao A2 0.




